BJ210 ARz RS (R EEY)

RaNS IMAO

xu | an | me
(Bzi0]10 | | mErswm

Siy= SCM435

o)1z "% pmc
I 3 _ SREAEED
() G BEDLLe Wi =5

M1 A7 fa R EARET M1 75 A R SEET

f"s
S

e
= —
H3 AT Emepe
IS, | T = I R e
o | | I T | 1 [
T I T Lo ;
| } :Er | \J‘ :(E\‘
M 7 AR R MR
(FrofERY) (588U
BJ210 | (AR fERY)

#I = M L H1 H2 Hs H w M Ha }?f
BJ210-08040 | M 8X1.25 50 | 32 25 20 40 21 | M8 7 95
BJ210-12050 | M12X1.75 100 50 40 32 60 36 | M12 | 12 500
BJ210-16063 | M16X2 63 50 40 80 46 | M16 | 14 | 1200
BJ210-S |(5/\AY)

B o= M Ll | H|W|M]|H ’ff
BJ210-08020S| M 8X1.25| 50 | 20 28 21 | M8 7 70
BJ210-10025S| M10X1.5 90 | 25 35 30 | M10 9 195
BJ210-12032S| M12X1.75 100 32 44 36 | M12 | 12 355
BJ210-16040S| M16X2 40 56 46 | M16 | 14 705

HF =

WA AT HBIRE,



